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Answer all the questions.

(a) Law is an essential way to maintain law and order in a democratic society.

Identify three other reasons why we need laws.

(b) One of the differences between the civil law and criminal law is the name of the person
starting the case.

Explain the difference between the civil and criminal law in this situation.
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(@)

(b)

()
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Before a law is discussed in Parliament it has to go through the pre-legislative process.

Identify the three main documents produced during the pre-legislative process by the
Government wishing to pass a new law.

Read the following passage below and fill in the missing words from the following list.

+  binding
. different
*  higher

. lower

+  original
. similar

It is an important rule of judicial precedent that courts follow the previous decisions of courts

............................... in the hierarchy of the courts where the facts of both the current and the
previous case are the same or ...........ccccceeeeeeennins . The precedent from an earlier case that
must be followed is known as ...........ccccceeeeinnnnee. precedent.

[3]

(i) Explain three problems in using Acts of Parliament to pass laws.
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(ii) Explain what is meant by both of the following types of delegated legislation.

StAtULOrY INSITUMENES .. ..eiiiiiiic ettt e et e e aee e ereeeeaea e

© OCR 2017



5

3 (a) Under the Police and Criminal Evidence Act 1984 the public are given certain safeguards
during a stop and search carried out by the police.

Identify the three main pieces of information a police officer must tell a person during a stop
and search.

(b) (i) Discuss why itis important to balance the needs of the police to investigate crime against
citizens’ rights to freedom and liberty.

(ii) Under the Police and Criminal Evidence Act 1984 a suspect has the right to access
legal advice while in detention at a police station.

Discuss what is meant by this safeguard.
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(c) Select the correct reason for appeal to match the most appropriate criminal court. Write
the appropriate number next to each letter in the grid below.
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A
C
Criminal Court Reason for Appeal
A Crown Court A point of law is in dispute in a
. summary trial and a case stated
B C.OL.”F of Appeal (Criminal appeal is made here.
Division)
, . The defence make a final appeal
c Queen’s Bench Division on a point of law to this court —

the most senior court in England.

The prosecution appeal against
a sentence for murder that they
feel is too lenient to this court.

Following a summary trial the
defence appeals against being
found guilty to this court.

[31
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(d) Explain what is meant by the following two classifications of offences.

triable either way OffENCe ........ooo i
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(@) (i) There are many aims of sentencing. For example, punishment of offenders looks to

take revenge on an offender usually by sending them to prison.

Identify whether the following statements are true or false by putting a tick in the correct
box.

Statement True False

Rehabilitation of offenders is the opposite of punishment of
offenders as this looks to stop or break the cycle of offending.

B as a whole and is not used to compensate the victims

Reparation by offenders is only available to the community

themselves.

Deterrence is commonly criticised since criminals are rarely (if

ever) put off by lengthy sentences given for serious crimes.
[3]
(ii) Give a definition of the following factors influencing sentencing.
MItIGAtING TACIOIS ... e e e e e e e e e e e
aggravating faACIOrS ........ueiiiii s
racially motivated faCOr .........ooo i
[3]

(b) Before a magistrate sits in court to hear a trial they must first be appointed.

Explain how a magistrate is appointed.
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(c) Helen has been called to be a member of a jury and she must satisfy certain qualifications to
do so.

Describe what qualifications Helen must have to serve on a jury.

.............................................................................................................................................. [3]
(d)* Explain one advantage of using magistrates and one disadvantage of using juries in criminal

trials.

advantage of USINg MAaGISIrates .........uviiiiiiiiii e

disadvantage Of USING JUIES .....ceiiiiiiiiiiiiii ettt e e e e s e e e e e e e e e aanes

END OF QUESTION PAPER
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ADDITIONAL ANSWER SPACE

If additional space is required, you should use the following lined page(s). The question number(s)
must be clearly shown in the margin(s).
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